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1. Congress working committee met at ________ and passed a resolution to demand 

Independence of India. 
a. Delhi b. Wardha  c. Surat d. Simal e. Answer not known 
,e;jpahtpw;F Rje;jpuk; ju Ntz;Lk; vd;w jPu;khdj;ij fhq;fpu]; fhupa fkpl;b _______ 
re;jpg;gpy; epiwNtw;wpaJ. 
a. by;yp b. thu;jh  c. #uj; d. rpk;yh e. tpil njupatpy;iy 
 

2. ‘S. S. Kaliyo’, the ship of the Swadeshi steam navigation company was sold to 
a. The English Company  b. The French East India Company 
c. The Dutch Company  d. The Portuguese Company 
e. Answer not known 
RNjrp ePuhtp Nghf;Ftuj;J epWtdj;jpd; “v];.v];. fhypNah” vd;w fg;gy; ________ f;F 
tpw;fg;gl;lJ. 
a. Mq;fpNya epWtdk;  b. gpuQ;R fpof;fpe;jpa epWtdk; c. lr;R fk;ngdp 
d. Nghu;j;Jf;fPrpupah;fspd; fk;ngdp e. tpil njupatpy;iy 
 

3. The Akali Movement was an offshoot of the 
a. National Movement    b. Reform Movement  
c. Singh Sabha Movement    d. Revolutionary Movement  
e. Answer not known 
mfhyp ,af;fk; _________ d; kWTUthf nray;gl;lJ. 
a. Njrpa ,af;fk;  b. rPu;jpUj;j ,af;fk;  c. rpq; rgh ,af;fk; 
d. Gul;rpfu ,af;fk;  e. tpil njupatpy;iy 
 

4. Own Account Workers Phenomenon is referred to as  
a. self-exploitation  b. self-reliance   c. self – sufficiency 
d. self-help   e. Answer not known 
nrhe;j fzf;F njhopyhsu;fs; epfo;Tfs; _________ vd Fwpg;gplg;gLfpwJ. 
a. Ra Ruz;ly  b. jd;dk;gpf;if  c. jd;dpiwT 
d. Ra cjtp   e. tpil njupatpy;iy 
 

5. Who added a new dimension to Bengali Literature through his unique political genius? 
a. Abindranath Tagore  b. Rabindranath Tagore  
c. Parbhat Kumar Mukherji d. Akshay Kumar Datta e. Answer not know  
jdJ ftpij jdp jpwikapdhy; tq;fhs ,yf;fpaj;jpw;F Gjpa tbtk; Nru;j;jtu; ahu;? 
a. mgPd;juehj; jh$u;  b. utPe;jpuehj; jh$u;  c. gpugj; Fkhu; Kfu;[p 
d. mf;~a Fkhu; jj;jh  e. tpil njupatpy;iy 
 

6. The secretary of state for India used to be paid out of the Indian revenues. When it was 
stopped? 
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a. 1919 b. 1909 c. 1935  d. 1947 e. Answer not known 
ePz;l fhykhf ,q;fpyhe;jpYs;s ,e;jpa nrayUf;F ,e;jpa tUthapypUe;J Cjpak; 
nrYj;jptug;gl;lJ. vg;nghOJ mJ epWj;jg;gl;lJ? 
a. 1919 b. 1909 c. 1935  d. 1947 e. tpil njupatpy;iy 
 

7. Who was the author of the book ‘Commentaries on the Quran? 
a. Shah Abdul  b. Sir Syed Ahmed Khan  c. Syed Ahmed  
d. Abdul Aziz  e. Answer not known 
‘FHuhdpd; kPjhd tpsf;f ciu’ vd;w E}ypd; Mrpupau; ahu;? 
a. ~h mg;Jy;  b. ru; iraJ mfk;kJ fhd; c. iraJ mfk;kJ 
d. mg;Jy; m]p];  e. tpil njupatpy;iy 
 

8. In 1806, an historical event started at Vellore. Name that 
a. Revolt of Velu Nachiyar  b. Hanging of Kattabomman 
c. Poligar Revolt   d. Vellore Mutiny  e. Answer not known 
1806 -y; NtY}upy; xU tuyhw;W epfo;T ele;jJ. mij Fwpg;gpL 
a. NtYehr;rpahu; Gul;rp  b. fl;lnghk;kd; J}f;fpyply;  
c. ghisaf;fhuh; Gul;rp  d. NtY}u; fyfk;  e. tpil njupatpy;iy 
 

9. The famous song 
“Here Comes a war without blood, without sword  
All those who believe in the eternity of Truth, join”. Composed by  
a. V. Ramalingam  b. V. O. Chidambaram c. Bharathi 
d. Subramania Siva  e. Answer not known 
kpfTk; Gfo;ngw;w ghlhyhd> 
“fj;jpapd;wp> ,uj;jkpd;wp Aj;jnkhd;W tUFJ 
Rj;jpaj;jpd; epj;jpaj;ij ek;Gk; ahUk; Nru;tPu;”. njhFj;J ntspapl;ltu; 
a. nt. uhkypq;fk;  b. t.c. rpjk;guk;  c. ghujpahu; 
d. Rg;gukzpa rpth  e. tpil njupatpy;iy 
 

10. ________formed the “South Indian Confederacy” against the British. 
a. Marudhu Pandyan b. Sivasubramaniyam c. Kattapomman 
d. Oomathurai  e. Answer not known 
Mq;fpNyau;fSf;F vjpuhf “ njd;dpe;jpa $l;lzpia” Vw;gLj;jpatu; 
a. kUJ ghz;bad;  b. rptRg;ukzpad;  c. fl;lnghk;kd; 
d. Ckj;Jiu   e. tpil njupatpy;iy 

 
11. The basic cause for the South Arcot agitation of 1841 was 

a. Introduction of reforms  b. Imposition of taxes c. Policy of annexation 
d. Spread of Religion  e. Answer not known 
1841 Mk; Mz;L njd; Mw;fhL gFjpapy; Vw;gl;l Gul;rpf;fhd fhuzk;  
a. rPu;jpUj;jj;ij mwpKfk; nra;jjhy;  b. tup tpjpj;jjpw;fhf 
c. epyq;fis mgfupj;jjw;fhf   d. rkaj;ij gutr; nra;jikf;fhf 
e. tpil njupatpy;iy 
 

12. Zeigen balg’s remarkable contribution is the translation of  
a. The Old Testament    b. The New Testament 
c. The Old and New Testament   d. The Thirukkural 
e. Answer not known 
rPfd; ghy;f;fpd; rpwg;ghd jkpo; nkhop ngau;g;G 
a. gioa Vw;ghL  b. Gjpa Vw;ghL  c. gioa kw;Wk; Gjpa Vw;ghL 
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d. jpUf;Fws;   e. tpil njupatpy;iy 
 

13. In 1898, the widow’s home in Madras was founded by  
a. Veerasalingam pantulu  b. G. Subramani  c. Kaja Ramakrishna Rao 
d. Sivapriyammal   e. Answer not known 
1898 k; Mz;L nkluh]py; tpjitfs; ,y;yj;ij Vw;gLj;jpatu; 
a. tPurypq;fk; ge;jY  b. [p. Rg;gpukzp  c. fh[h uhkfpU~;zuht; 
d. rptgpupak;khs;    e. tpil njupatpy;iy 
 

14. In June 11, 1911 Collector Ashe took his Fateful journey from Tirunelveli to 
a. Kodaikanal  b. Madurai   c. Ooty 
d. Madras   e. Answer not known 
1911 Mk; tUlk;> [{d; khjk; 11 Mk; ehs;> khtl;l Ml;rpau; M~; jdJ JujpU~;lkhd 
gazj;ij jpUney;NtupapypUe;J ___________ f;F Nkw;nfhz;lhu; 
a. nfhilf;fhdy;  b. kJiu   c. Cl;b 
d. kjuh];   e. tpil njupatpy;iy 
 

15. _________ became the Chief Minister of Tamil Nadu by the election of 1920. 
a. Raja of Panagal  b. A. Subbharayalu Reddiar c. P. Subbaroyan 
d. B. Muthuswami Naidy e. Answer not known  
1920 y; jkpofj;jpy; eilngw;w Nju;jy; %yk; ________ jkpo;ehl;bd; Kjyikr;ruhdtu;. 
a. ,uh[h gdfy;  b. v. Rg;GuhaY} nul;bahu;  c. gp. Rg;Guhad; 
d. gp. Kj;Jrhkp ehAL e. tpil njupatpy;iy 
 

16. ________ was a unit of measuring gold in Sangam age. 
a. Veli   b. Kalanju   c. Marakkal 
d. Kuppidu  e. Answer not known 
rq;f fhyj;jpy; jq;fj;jpid kjpg;gpLfpwJ msthf ,ue;jJ ___________ MFk;. 
a. Ntyp  b. fyQ;R   c. kuf;fhy; 
d. $g;gPL  e. tpil njupatpy;iy 
 

17. During the ancient period the trade route between India with Western countries was 
called as 
a. Silk route   b. Herbal route  c. Indus routs 
d. Ganges route  e. Answer not known 
gz;ila fhyq;fspy; ,e;jpahtpw;Fk; Nkw;fj;jpa ehLfSf;FkpilNa eilngw;w tu;j;jf 
khh;f;fk; ___________ vd miof;fg;gl;lJ. 
a. rpy;f; khu;f;fk;  b. `h;gy; khh;f;fk;  c. rpe;J khh;f;fk; 
d. fq;if khu;f;fk;  e. tpil njupatpy;iy 
 

18. The principle insisted by Thiruvalluvar as an important one for our family life was 
a. Love    b. Wealth   c. Patience 
d. Sympathy   e. Answer not known 
jpUts;Stu; ekJ FLk;g tho;f;ifapd; Kf;fpakhd nfhs;ifahd typAWj;JtJ 
a. md;G   b. nry;tk;   c. nghWik 
d. jia   e. tpil njupatpy;iy 
 

19. The weekly magazine “Dravidanadu” 
a. E.V. Ramasamy  b. C.N. Annadurai  c. M. Karunanithi 
d. M.G. Ramachandran e. Answer not known 
“jpuhtpl ehL” vd;w thu ,jio ntspapl;ltu; 
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a. <.nt. ,uhkrhkp  b. rp.vd;. mz;zhJiu c. K. fUzhepjp 
d. vk;.[p. uhkr;re;jpud; e. tpil njupatpy;iy 
 

20. Name the editor of a Tamil weekly “Viveka Banu” 
a. V.O. Chidambaram   b. Kavimani Desiya Vinayakam   
c. Maraimalai Adigal   d. Subramania Bharathi 
e. Answer not known 
‘tpNtfh ghD’ vd;w jkpo; khj ,jopd; gjpg;ghrpupau; ngau; $W? 
a. t.c. rpjk;guk;    b. ftpkzp Njrpa tpehafk; 
c. kiwkiy mbfs;   d. Rg;ukzpa ghujpahu; 
e. tpil njupatpy;iy\ 
 

21. _________ Naligais were there for a day during Sangam Age. 
a. Twenty four  b. Twenty  c. Ten 
d. Sixty   e. Answer not known 
rq;f fhyj;jpy; ehs; xd;Wf;F ___________ ehopiffs; ,Ue;jd. 
a. ,Ugj;jp ehd;F  b. ,UgJ  c. gj;J 
d. mWgJ   e. tpil njupatpy;iy 
 

22. ________ was considered to be the brave entertainment of the Sangam Society. 
a. Erutaluvudal  b. Ammanai   c. Kilukili 
d. Kalangu   e. Answer not known 
rq;f fhy r%fj;jpd; tPukpf;f nghOJ Nghf;fhf _________ I fUjpdu;. 
a. VWjOTjy;  b. mk;khid   c. fpY}f;fpyp 
d. fyq;F   e. tpil njupatpy;iy 
 

23. The Government of Tamil Nadu have provided free laptop computers to all +1 and +2 
and college students those studying in government/government aided institutions 
from 
a. 2011 onwards  b. 2012 onwards  c. 2013 onwards 
d. 2014 onwards  e. Answer not known 
jkpof murhy; midj;J muR kw;Wk; muR cjtp ngWk; gs;sp +1, +2 kw;Wk; (muR 
kw;Wk; muR cjtp ngWk;) fy;Y}up khzt khztupaw;F tpiyapy;yh kb fzpdp 
toq;fg;gl;L tUk; tUlk;. 
a. 2011 Mk; Mz;L Kjy; toq;fg;gLfpwJ  
b. 2012 Mk; Mz;L Kjy; toq;fg;gLfpwJ 
c. 2013 Mk; Mz;L Kjy; toq;fg;gLfpwJ 
d. 2014 Mk; Mz;L Kjy; toq;fg;gLfpwJ 
e. tpil njupatpy;iy 
 

24. Tamil Nadu is the ________ largest contributor to India’s GDP. 
a. First    b. Fourth   c. Seventh 
d. Second   e. Answer not known 
,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; jkpofj;jpd; gq;fspg;G _______ ,lj;jpy; 
cs;sJ. 
a. Kjy; ,lk;  b. ehd;fhtJ ,lk;  c. VohtJ ,lk; 
d. ,uz;lhtJ ,lk;  e. tpil njupatpy;iy 
 

25. Expand: TIIC 
a. Tamil Nadu Investment Industrial Corporation Ltd 
b. Tamil Nadu Investment Industrial Company Ltd 
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c. Tamil Nadu Industrial Investment Corporation Ltd 
d. Tamil Nadu Industrial Investment Company Ltd 
e. Answer not known 
tpupthf;fk; nra;. TIIC 
a. jkpo;ehL KjyPl;L njhopy; fofk; ypkpnll; 
b. jkpo;ehL KjyPl;L njhopy; epWtdk; ypkpnll; 
c. jkpo;ehL njhopy; KjyPl;L fofk; ypkpnll; 
d. jkpo;ehL njhopy; KjyPl;L epWtdk; ypkpnll; 
e. tpil njupatpy;iy 
  

26. Article provides the privileges for the state governor 
a. Article 213 (2)  b. Article 356 (4)   c. Article 212 (a & b) 
d. Article 361 (1)  e. Answer not known 
rl;lg;gpupT khepy MSeupd; rpwg;Gupikfis mspf;fpwJ. 
a. rl;lg;gpupT 213 (2)   b. rl;lg;gpupT 356 (4) d; gb  
c. rl;lg;gpupT 212 (a & b)d; gb  d. rl;lg;gupT 361 (1) d; gb 
e. tpil njupatpy;iy 
  

27. Squirrel Wild Life Sanctuary is located at 
a. Coimbatore  b. Udagamandalam  c. Srivilliputhur 
d. Tiruchirapalli  e. Answer not known 
mzpy; tdtpyq;F ruzhyak; mike;Js;s ,lk; 
a. Nfhak;Gj;J}u;  b. cjfkz;lyk;  c. =tpy;ypg;Gj;J}u; 
d. jpUr;rpuhg;gs;sp  e. tpil njupatpy;iy 
  

28. The main aims of UDAN scheme is launched to  
a. Promote Air Flight Connectivity between Regions 
b. Promote Bus Transport Facilities between the cities 
c. Promote Air flight connectivity between the countries 
d. Promote waterways between the Regions 
e. Answer not known 
UDAN jpl;lk; njhlq;fg;gl;ljd; Kf;fpa Nehf;fk; 
a. khepyj;jpd; efuq;fis tpkhd Nghf;Ftuj;J %yk; ,izg;gJ 
b. khepyj;jpd; efuq;fs; ,ilNa NgUe;J trjpia Vw;gLj;jy; 
c. ehLfspilNa tpkhd Nritia Nkk;gLj;jy; 
d. khepyj;jpd; efuq;fis ePu;top %yk; ,izg;gJ 
e. tpil njupatpy;iy 
 

29. In 2017-18, productivity Position of crops in Tamil Nadu at National level ranks first in 
a. Maize, Cumbu, Groundnut and Cotton 
b. Maize, Rice, Sugarcane and Cotton 
c. Maize, Rice, Groundnut and Cotton 
d. Maize, Cumbu, Sugarcane and Cotton 
e. answer not known 
2017 -18 Mk; Mz;by;> jkpofj;jpd; cw;gj;jpjpwd; msT Njrpa mstpy; Kjy; ,lk; 
gpbj;Js;s gapu;fs; 
a. Nrhsk;> fk;G> Ntu;f;fliy kw;Wk; gUj;jp 
b. Nrhsk;> ney;> ru;f;fiu kw;Wk; gUj;jp 
c. Nrhsk;> ney;> Ntu;f;fliy kw;Wk; gUj;jp 
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d. Nrhsk;> fk;G> ru;f;fiu kw;Wk; gUj;jp 
e. tpil njupatpy;iy 
 

30. The main objective of minimum needs programme used by the planning commission is  
a. Poverty alleviation   b. Elementary education   
c. Technological development  d. Technological development 
e. Answer not known 
jpl;lf; FOtpd; Fiwe;jsT Njitj; jpl;lj;jpd; Kf;fpa Fwpf;Nfhs; 
a. tWik xopg;G    b. Muk;g fy;tp  c. njhopy;El;g tsu;r;rp 
d. njhopiy Nkk;gLj;Jjy;  e. tpil njupatpy;iy 
 

31. Rs. 550 per month is given as family pension by co-operative Handloom weaver’s 
family pension scheme _______ years from the date of death. 
a. for 5 years   b. for 6 years   c. for 10 years 

d. for 15 years  e. Answer not known 
jkpof murhy; mwpKfgLj;jg;gl;l “$l;LwT ifj;jwp nerthsu; FLk;g Xa;T+jpa 
jpl;lj;jpd; %ykhf &.550 Xa;T+jpakhf nerthsu; capu; ,oe;j ehspypUe;J __________ 
Mz;Lfs; kl;Lk; toq;fgLfpwJ 
a. 5 Mz;Lfs; kl;Lk;  b. 6 Mz;Lfs; kl;Lk;   c. 10 Mz;Lfs; kl;Lk; 
d. 15 Mz;Lfs; kl;Lk; e. tpil njupatpy;iy 
  

32. In 2013-14, Tamil Nadu state share in total internet users at All India was 
a. 9.9 Percent   b. 15.9 percent  c. 6.9 percent 
d. 8.9 percent   e. Answer not known 
2013-14 Mk; Mz;by;> ,e;jpahtpy; ,d;lu;nel; gad;gLj;Jgtupd; jkpo;ehl;by; __________ 
gq;F. 
a. 9.9 rjtPjk;  b. 15.9 rjtPjk;  c. 6.9 rjtPjk; 
d. 8.9 rjtPjk;  e. tpil njupatpy;iy 
  

33. Find the missing number in the series 1, 9, 25, 49, 81,….. 
a. 90  b. 121  c. 125  d. 135  e. Answer not known 
1> 9> 25> 49> 81>…. vd;w njhlupy; tpLgl;l vz;izf; fhz;f 
a. 90  b. 121  c. 125  d. 135  e. tpil njupatpy;iy 
 

34. Next term of sequence 1, 1, 2, 3, 5, 8, 13 is 
a. 17  b. 21  c. 23  d. 25  e. Answer not known 
1> 1> 2> 3> 5> 8> 13>… vd;w njhlupapd; mLj;j cWg;G 
a. 17  b. 21  c. 23  d. 25  e. tpil njupatpy;iy 
 

35. If the sum of a number and its square is 1122. What is the number? 
a. 11  b. 22  c. 33  d. 44  e. Answer not known 
Xu; vz; kw;Wk; mjd; tu;f;fj;jpd; $Ljy; 1122 vdpy; me;j vz; ahJ? 
a. 11  b. 22  c. 33  d. 44  e. tpil njupatpy;iy 
 

36. What will be the probability that a non-leap year will have 53 Saturdays? 

a. 
1

7
  b. 

5

7
  c. 

2

7
  d. 1  e. Answer not known 

rhjhuz Mz;by; 53 rdpf;fpoikfs; tUtjw;fhd epfo;jfT vd;d? 

a. 
1

7
  b. 

5

7
  c. 

2

7
  d. 1  e. tpil njupatpy;iy 
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37. The next term of the sequence 
3 1 1 1

, , ,
16 8 12 18

…. is  

a. 
1

24
  b. 

1

27
  c. 

1

81
  d. 

2

3
  e. Answer not known 

3 1 1 1
, , ,

16 8 12 18
…. vd;w njhlu;tupirapd; mLj;j cWg;G 

a. 
1

24
  b. 

1

27
  c. 

1

81
  d. 

2

3
  e. tpil njupatpy;iy 

 
38. If a = 1, b =2, …, z = 26 then OWL= 

a. Fish   b. Pigeon   c. Snake 

d. Bird  e. Answer not known 
a = 1, b =2, …, z = 26 vdf; nfhs;Nthkhdhy; OWL vd;w thh;j;ijapd; kjpg;G vjw;F 
rkkhf ,Uf;Fk;? 
a. Fish   b. Pigeon   c. Snake 
d. Bird  e. tpil njupatpy;iy 
   

39. A and B together can complete a piece of work in 6 days. If A alone can complete the 
same work in 18 days, in how many days can B alone complete that work? 
a. 12 days   b. 15 days   c. 9 days 

d. 10 days   e. Answer not known 
A kw;Wk; B ,UtUk; Nru;e;J xU Ntiyia 6 ehl;fspy; Kbf;fpwhu;fs;. mNj 
Ntiyia A kl;Lk; jdpahf 18 ehspy; Kbg;gu; vdpy; B kl;Lk; jdpahf mt;Ntiyia 
vj;jid ehspy; Kbg;gu; 
a. 12 ehl;fs;   b. 15 ehl;fs;   c. 9 ehl;fs; 
d. 10 ehl;fs;   e. tpil njupatpy;iy 
 

40. A sector containing an angle of 150˚ is cut off from a circle of radius 28 cm and folded 

into a cone. 
22

7

 
 = 
 

 

a. 1026.67 sq. cm  b. 987.67 sq. cm  c. 868.56 sq. cm 
d. 988.64 sq. cm  e. Answer not known 
28 nr.kP. MuKs;s xU tl;lj;jpypUe;J 150˚ ikaf;Nfhzk; nfhz;l xU tl;l 
Nfhzg;gFjp ntl;bnaLj;J mjd; Muq;fis xd;wpizj;J xU $k;ghf;fpdhy; mjd; 

tisgug;igf; fhz;f. 
22

7

 
 = 
 

 

a. 1026.67 r.nr.kP  b. 987.67 r.nr.kP  c. 868.56 r.nr.kP 
d. 988.64 r.nr.kP  e. tpil njupatpy;iy 

 
41. If a wheel of a car can cover a distance of 3520 cm in 20 rotations, then find the radius of 

the wheel 

a. 56 cm  b. 56 cm c. 28 cm d. 28 cm e. Answer not known 
xU kfpOe;jpd; rf;fuk; 20 Rw;Wfspy; 3520 nr.kP njhiyitf; flf;fpwJ vdpy; mjd; 
Muk; fhz;f. 

a. 56  nr.kP   b. 56 nr.kP   c. 28  nr.kP   

d. 28 nr.kP   e. tpil njupatpy;iy 
  

42. If the area of a square with side ‘a’ units is equal to the.  Area of a triangle with base ‘a’ 
units then the altitude is 
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a. 
2

a
units   b. a units   c. 2a units 

d. 4a units   e. Answer not known 
‘a’ myFfs; gf;fKs;s xU rJuj;jpd; gug;gsthdJ ‘a’ myFfs; mbg;gf;fKs;s xU 
Kf;Nfhzj;jpd; gug;gstpw;Fr; rkk; vdpy; mk;Kf;Nfhzj;jpd; Fj;Jauk;. 

a. 
2

a
 myFfs;  b. a myFfs;   c. 2a myFfs; 

d. 4a myFfs;  e. tpil njupatpy;iy 
 

43. The ratio of the volumes of a cylinder, a sphere and a cone if each has same diameter 
and same height is 
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 3 : 2 : 1 

d. 3 : 1 : 2   e. Answer not known 
rkkhd tpl;lk; kw;Wk; cauk; cila Xu; cUis> xu; Nfhsk;> xU $k;G ,tw;wpd; fd 
msTfspd; tpfpjk; 
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 3 : 2 : 1 
d. 3 : 1 : 2   e. tpil njupatpy;iy 
 

44. What is the shape of the figure? If we rotate a hemisphere about its diameter in one full 
rotation. 
a. Circle   b. Cylinder   c. Hemisphere 
d. Sphere   e. Answer not known 
Xu; xiutl;lj;ij mjd; tpl;lj;ij mr;rhff; nfhz;L xU KOf;Rw;W Row;Wk; NghJ 
cz;lhFk; jpz;k cUtk; 
a. tl;lk;   b. cUis   c. miuf;Nfhsk; 
d. Nfhsk;   e. tpil njupatpy;iy 
 

45. If a sum amounts to Rs. 1, 352 in 2 yr at 4% compound interest then find the principal. 
a. Rs. 1, 200   b. Rs. 1, 250   c. Rs. 1, 260 
d. Rs. 1, 300   e. Answer not known 
4% $l;L tl;bf;F 2 tUlj;jpy; fpilf;Fk; nkhj;j njhif &. 1> 352 vdpy; mriyf; 
fhz;f. 
a. &. 1, 200   b. &. 1, 250   c. &. 1, 260 
d. &. 1, 300   e. tpil njupatpy;iy 
  

46. The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates at the rate of 4% 
p.a. Find its present value. 
a. Rs. 72,000   b. Rs. 72, 738   c. Rs. 73,728 

d. Rs. 72,728   e. Answer not known 
2 Mz;LfSf;F Kd;G xU Nkhl;lhu; thfdj;jpd; tpiy &. 80>000 ,J xt;nthU 
tUlKk; 4% FiwfpwJ vdpy; mjd; jw;Nghija tpiy ahJ? 
a. &. 72,000   b. &. 72, 738   c. &. 73,728 
d. &. 72,728   e. tpil njupatpy;iy  
 

47. 6 persons complete a work in 12 days After 2 days, 6 more persons join the work. How 
long will it take to complete the work? 
a. 3 days   b. 4 days   c. 6 days 
e. 5 days   e. Answer not known 
6 egu;fs; xU Ntiyia 12 ehs;fspy; nra;J Kbf;fpd;wdu;. 2 ehs;fs; fopj;J NkYk; 
6 egu;fs; te;J Nru;fpwhu;fs; vdpy; mt;Ntiyiar; nra;a vj;jid ehs;fs; vLj;Jf; 
nfhs;thh;fs;? 
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a. 3 ehl;fs;   b. 4 ehl;fs;   c. 6 ehl;fs; 
d. 5 ehl;fs;   e. tpil njupatpy;iy 
 

48. If a : b = b : c then a4 : b4 = 

a. 2:ac b   b. 2 2:a c    c. 2 2:c a  

d. 2 :b ac   e. Answer not known 

a : b = b : c vdpy; a4 : b4 = 

a. 2:ac b   b. 2 2:a c    c. 2 2:c a  

d. 2 :b ac   e. tpil njupatpy;iy 

 

49. Weight of 15 charts is 50 grams. How many charts will be there in 
1

2
2

kg weight of 

same chart? 
a. 679  b. 629  c. 765  d. 725  e. Answer not known 

15 ml;ilfspd; nkhj;j vil 50 fpuhk; vdpy;> mij msTila 
1

2
2

 fpfp. Vilapy; 

vj;jid ml;ilfs; ,Uf;Fk;? 
a. 679  b. 629  c. 765  d. 725  e. tpil njupatpy;iy 
 

50. 6 bells commence tolling together and toll of the intervals are 2, 4, 6, 8, 10 and 12 sec 
respectively. In 1 h, how many times do they toll together? 
a. 35  b. 31  c. 21  d. 16  e. Answer not known 
6 kzpfs; xd;whf kzp xypf;f njhlq;Ffpd;wd kw;Wk; kzp xypf;Fk; ,ilntspfs; 
KiwNa 2> 4> 6> 8> 10 kw;Wk; 12 nehb. 1 kzp Neuj;jpy; kzpfs; vj;jid Kiw 
xd;whf xypf;Fk;? 
a. 35  b. 31  c. 21  d. 16  e. tpil njupatpy;iy 

 

51. The G.C.D of 4 4x y−  and 2 2x y−  is 

a. 4 4x y−     b. 2 2x y−    c. ( )
2

x y+  

d. ( )
4

x y+     e. Answer not known 

 4 4x y−  kw;Wk; 2 2x y−  ,d; kP.ngh.t 

a. 4 4x y−     b. 2 2x y−    c. ( )
2

x y+  

d. ( )
4

x y+     e. tpil njhpatpy;iy 

 

52. If 
1

2x
x

+ =  then what is the value of 
1

x
x

−  ? 

a. -2   b. 0  c. 1  d. 2  e. Answer not known 
1

2x
x

+ = vdpy; 
1

x
x

− - d; kjpg;G vd;d?  

a. -2   b. 0  c. 1  d. 2  e. tpil njhpatpy;iy 
 

53. The monthly income of a person is Rs. 5,000.  If his income is increased by 30 % then 
what is his new monthly income? 
a. Rs. 3,500   b. Rs. 4,500  c. Rs. 5,500  
d. Rs. 6,500   e. Answer not known 
xU eghpd; khj tUkhdk; &.5>000 mtuJ tUkhdk 30% mjpfhpj;jhy; Gjpa khj 
tUkhdk; vd;d?  
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a. &. 3,500   b. &. 4,500   c. &.5,500  
d. &. 6,500   e. tpil njhpatpy;iy. 
 

54. Find x? 
1 5 20 1

2 1 7
3 6 3 3

x+ − + =  

a. 
1

3
2

−   b. 
1

3
2

  c. 
1

4
2

  d. 
1

4
2

−  e. Answer not known 

x d; kjpg;igf; fhz;f. 
1 5 20 1

2 1 7
3 6 3 3

x+ − + =  

a. 
1

3
2

−   b. 
1

3
2

  c. 
1

4
2

  d. 
1

4
2

−  e. tpil njhpatpy;iy. 

 
55. Find the value of 45% of 750 – 25% of 480 

a. 216  b. 217.50  c. 236.50 d. 245  e. Answer not known 
kjpg;G fhz;f:  750 d; 45% –  480 d;  25% 
a. 216  b. 217.50  c. 236.50 d. 245  e. tpil njhpatpy;iy. 
 

56. A box contains 75 balls of red or blue colour.  If there are 18 red balls find the 
percentage of blue balls in the box. 
a. 24%  b. 50%  c. 76%  d. 67%  e. Answer not known 
xU ngl;bapy; rptg;G kw;Wk; ePy epwg; ge;Jfs; nkhj;jkhf 75 ,Uf;fpd;wd. mtw;Ws; 18 
rptg;G ge;Jfs; ,Uf;Fnkdpy; ePy epwg; ge;Jfspd; vz;zpf;ifia rjtPjj;jpy; fhz;f. 
a. 24%  b. 50%  c. 76%  d. 67%  e. tpil njhpatpy;iy. 
 

57. The depreciation of a television is 10% every year.  It was purchased 3 years ago.  If its 
present value is Rs. 83,835, its purchase price was 
a. Rs. 1,00,000  b. Rs. 1,12,500  c. Rs. 1,15,000 

d. Rs. 1,17,500  e. Answer not known 
xU njhiyf;fhl;rp thq;fpa tpiyapypUe;J xt;nthU tUlKk; 10% FiwfpwJ. 
mj;njhiyf;fhl;rpapd; jw;Nghija kjpg;G &.83>835 vdpy; 3 Mz;LfSf;F Kd;G thq;fpa 
tpiy ahJ? 
a. &. 1,00,000   b. &. 1,12,500   c. &. 1,15,000 
d. &.1,17,500   e. tpil njhpatpy;iy. 
 

58. A single pair of genes produces two or more character is known as  
a. Pleiostrogenes  b. Plasmogenes   c. Pleiotropism 
d. Multiple genes  e. Answer not known 
xw;iw N[hb kugZf;fs; ,uz;L my;yJ ,uz;Lf;F Nkw;gl;l Fzhjpraq;fis 
cUthf;Fjiy ______________ vd;W miof;fg;gLfpwJ. 

a. gpsp];Nlh kugZf;fs; b. gpsh];Nkh kugZf;fs;  c. gpspNahbNuhgprk; 
d. gy kugZf;fs;  e. tpil njhpatpy;iy. 
   

59.  Which of the following compound induce flowering? 
a. Florigen   b. Ethylene   c. Abcisic Acid 
d. Suberin   e. Answer not known 
jhtuq;fspy; G+f;fspd; cw;gj;jpia J}z;Lk; Ntjpg;nghUs; ahJ? 
a. gpshhp[d;   b. vj;jpyPd;   c. mg;]p]pf; mrpl; 
d. #ghpd;   e. tpil njhpatpy;iy 
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60. What is the role of CITES organization? 
a. Promotion of space technology  b. Prevention of trading of endangered biota 
c. Banning the trade of minerals  d. Trading of electronic goods 
e. Answer not known 
CITES vd;w epWtdj;jpd; nray;ghL vJ? 
a. tpz;ntsp njhopy;El;gq;fis Nkk;gLj;JtJ 
b. mopAk; epiyapYs;s capdq;fspd; tpahghuq;fis jil nra;tJ 
c. cNyhfq;fspd; tpahghuq;fis jil nra;tJ 
d. kpd;dZ nghUl;fis re;ijg;gLj;JtJ 
e. tpil njhpatpy;iy 
 

61. Which of the following tree is the tallest? 
a. Pinus   b. Thuja   c. Cryptomeria 
d. Sequoia   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; ve;j kuk; kpfTk; caukhdJ? 
a. igd];   b. J}[h   c. fphpg;NlhkPhpah 
d. nrf;Nfah   e. tpil njhpatpy;iy.  
 
 

62. The only non – metal which is a liquid at room temperature is  
a. Chlorine   b. Gallium   c. Mercury 
d. Bromine   e. Answer not known 
miw ntg;gepiyapy; jput epiyapy; cs;s xNu mNyhfk; 
a. FNshhpd;   b. fhypak;   c. nkh;Fhp 
d. GNuhkpd;   e. tpil njhpatpy;iy 
 

63. Super oxides contain 

a. 2

2O −  ion  b. O- ion c. O2- ion d. O2- ion e. Answer not known 

#g;gh; Mf;i]Lfspy; ____________ cs;sJ. 

a. 2

2O −  madp  b. O- madp c. O2- madp d. O2- madp e. tpil njhpatpy;iy 

 
64. Viscosity is a transport phenomenon in which 

a. Mass alone is transported   b. Energy alone is transported 
c. Mass and energy are transported  d. Momentum is transported 

e. Answer not known 
ghFj;jd;ik vd;gJ xU ngah;r;rp epfo;T> ,jpy;  
a. epiw kl;Lk; ,lk; ngah;fpwJ.   b. Mw;wy; kl;Lk; ,lk; ngah;fpwJ. 
c. epiwAk;> Mw;wYk; ,lk; ngah;fpwJ  d. ce;jk; ,lk; ngah;fpwJ. 
e. tpil njhpatpy;iy. 
 

65. A convex lens of power 3 diopter and a concave lens of power 2 diopter combined 
together.  Then the equivalent power is  
a. Concave lens of 1 diopter   b. Convex lens of 1 diopter 
c. Concave lens of 5 diopter   d. Convex lens of 5 diopter 
e. Answer not known 
Ftp nyd;rpd; jpwd; 3 lahg;lh; kw;Wk Fopnyd;rpd; jpwd; 2 lahg;lh; ,izf;fg;gLfpwJ. 
mjDila jpwd; ,izj;j gpd;G vt;thW ,Uf;Fk;? 
a. Fopnyd;rpd; jpwd; 1 lahg;lh;   b. Ftpnyd;rpd; jpwd; 1 lahg;lh; 
c. Fopnyd;rpd; jpwd; 5 lahg;lh;   d. Ftpnyd;rpd; jpwd; 5 lahg;lh; 
e. tpil njhpatpy;iy. 
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66. Which one of the following is the world’s smallest chameleon discovered on Isla Beata? 

a. Brookesia minima  b. Brookesia betschi  c. Brookesia nana 
d. Brookesis micra   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ I];yh gpal;lh gFjpfspy; fz;lwpag;gl;l cyfpd; kpfr; rpwpa 
gr;Nrhe;jp tif MFk;. 
a. G&f;Nfrpah kpdpkh  b. G&f;Nfrpah ngl;rp c. G&f;Nfrpah Nedh 
d. G&f;Nfrpah ikf;uh  e. tpil njhpatpy;iy. 
 

67. India adopted the ‘Digital work plan 2022 ‘ along with the  
a. SAARC    b. ASEAN   c. G-20 
d. European Commission  e. Answer not known 
2022 Mk; Mz;bw;fhd b[pl;ly; Ntiyj; jpl;lj;ij ,e;jpah ________ $l;likg;Gld; 
,ize;J Vw;Wf; nfhz;lJ. 
a.  rhh;f;    b. Vrpad;   c. [p–20  
d. INuhg;gpa Mizak;  e. tpil njhpatpy;iy 
 

68. Pradhan Mantri Jan Arogya Yojana is providing Rs. ______________ for health coverage 
per family for secondary and tertiary care hospitalization to poor and vulnerable 
families. 
a. Rs. 3 lakhs   b. Rs. 4 lakhs   c. Rs. 5 lakhs 
d. Rs. 7 lakhs   e. Answer not known 
gpujhd; ke;jphp [d; MNuhf;fpa Nah[dh jpl;lj;jpypUe;J Vio kw;Wk; ghjpf;fg;glf;$ba 
FLk;gq;fSf;F &gha; ___________ xU Mz;Lf;F Rfhjhuf; fhg;gPL xU FLk;gj;jpw;F> 
,uz;lhk; kw;Wk; %d;whk; epiy guhkhpg;G kUj;Jtkidfspy; gad;gLj;jpf; nfhs;syhk;. 
a. &. 3 ,yl;rk;  b. &. 4 ,yl;rk;  c. &. 5 ,yl;rk; 
d. &. 7 ,yl;rk;  e. tpil njhpatpy;iy 
 

69. Following scheme is introduced by government of India to ensure child protection 
a. National Skill Development Mission b. Integrated Child Protection Scheme 
c. National Innovation Foundation d. Science and Engineering Research board 
e. Answer not known 
Foe;ij ghJfhg;ig cWjp nra;tjw;fhf gpd;tUk; jpl;lq;fs; ,e;jpa murhy; 
mwpKfg;glj;jg;gl;Ls;sd. 
a. Njrpa jpwd; Nkk;ghl;Lf; fofk;  b. xUq;fpize;j Foe;ijfs; ghJfhg;G jpl;lk; 
c. Njrpa GJKiw fhzy; fofk;  d. mwptpay; kw;Wk;nghwpapay; Muha;r;rpthhpak; 
e. tpil njhpatpy;iy. 
 

70. Dada – Saheb Phalke award winner Muhammad Yusuf Khan known professionally as   
a. Asok Kumar  b. Manoj Kumar  c. Dilip Kumar 

d. RajKumar   e. Answer not known 
jhjhrhNfg; ghy;Nf tpUJg;ngw;w KfkJ A+Rg; fhd; njhopy; hPjpahf ,t;thW 
mwpag;gLfpwhh;. 
a. mNrhf;Fkhh;  b. kNdh[; Fkhh;  c. jpyPg; Fkhh; 
d. uh[; Fkhh;   e. tpil njhpatpy;iy. 
 

71. National Anthem was sung on 27th December 1911, at the ___________ session of Indian 
National Congress. 
a. Calcutta  b. Delhi c. Bombay d. Madras e. Answer not known 
27 brk;gh; 1911-y; Njrpa fPjk; Kjd; Kjypy; ,e;jpa Njrpa fhq;fpu]pd; _____________  
mkh;tpy; ghlg;gl;lJ. 
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a. fy;fj;jh  b. jpy;yp c. gk;gha; d. nkl;uh];  e. tpilnjhpatpy;iy 
 

72. Which of the countries mentioned below have passed a legislation to recognize ‘Bit 
coin’ as legal tender? 
a. Cuba   b. India c. China d. Japan e. Answer not known 
fPNo Fwpg;gplg;gl;Ls;s ehLfspy; vJ ‘gpl;fhapd;’ I rl;lg;G+h;t nlz;luhf mq;fPfhpf;Fk; 
rl;lj;ij ,aw;wpaJ? 
a. f;A+gh  b. ,e;jpah c. rPdh d. [g;ghd; e. tpil njhpatpy;iy 
 

73. In India, Warli tribes are found in  
a. Maharastra  b. Goa   c. Andhra Pradesh 
d. Karnataka   e. Answer not known 
thh;yp goq;Fb ,dj;jth;fs; fPo;fz;l ve;j ,e;jpa khepyj;jpy; fhzg;gLfpwhh;fs;. 
a. kfhuh~;buh  b. Nfhth   c. Me;jpug; gpuNjrk; 
c. fh;ehlfh   e. tpil njhpatpy;iy 
 

74. According to World Health Organisation (WHO) how much percentage of Indian 
population does not have access to clean drinking water? 
a. 13.0 %  b. 22.0% c. 33.0% d. 30.0% e. Answer not known 
cyf Rfhjhu mikg;gpd; fUj;jpd; mbg;gilapy;> ,e;jpa kf;fl; njhifapy; vj;jid 
rjtPjj;jpdh; Rj;jkhd FbePh; ngwtpy;iy? 
a. 13.0 %  b. 22.0% c. 33.0% d. 30.0% e. tpil njhpatpy;iy. 
 

75. Which one of the following is India’s first 6 lane high speed express way? 
a. National Express Way 1  b. Delhi – Gurgaon express way 
c. Mumbai – Pune express way d. Ganga express way 
e. Answer not known 
gpd;tUtw;wpy; vJ ,e;jpahtpd; KjyhtJ 6 top mjpNtf tpiuTg;ghij MFk;. 
a. Njrpa tpiuTg; ghij 1   b. jpy;yp- fh;fhNahd; tpiuTg;ghij 
c. Kk;gha; - G+Nd tpiuTg;ghij  d. fq;if tpiuTg;ghij 
e. tpil njhpatpy;iy. 
 

76. National Institute of Disaster Management in India is located at, 
a. Pune   b. Midnapur   c. New Delhi 
d. Calcutta   e. Answer not known 
,e;jpahtpy; Njrpa Nghplh; Nkyhz;ik epWtdk; mike;Js;s ,lk; 
a. G+Nd   b. kpl;dhg+h;   c. epA+nly;yp 
d. fy;fj;jh   e. tpil njhpatpy;iy. 
 

77. Match the following mountains with their ranges 
A. Kanchenjunga   1. Western ghats 
B. Patkai    2.  Karakoram 
C. Vindhyas    3. Garo – Khasi 
D. Mahabaleshwar   4. Aravalli 
 A B C D 
a. 3 4 1 2 
b. 2 3 4 1  
c. 2 1 4 3 
d. 4 3 1 2 
e. Answer not known 
gpd;tUk; kiyfis mitfspd; kiyj; njhlh;fSld; nghUj;Jf. 
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A. fQ;rd;[q;fh   1.Nkw;F njhlh;r;rp kiy 
B. gl;fha;    2.fhuNfhuk; 
C. tpe;jpak;    3.fhNuh-fh]p 
D. kfhgyP];th;   4.Muty;yp  

A B C D 
a. 3 4 1 2 
b. 2 3 4 1  
c. 2 1 4 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

78. Which article deals the prohibition of discrimination on grounds of religion, race, caste, 
sex or place of birth? 
a. Article 14   b. Article 15   c. Article 16 
d. Article 17   e. Answer not known 
kjk;> ,dk;> rhjp> ghypdk; my;yJ gpwe;j ,lk; Nghd;witfspd; kPJ xU rhh;ghf 
,Ug;gij jil nra;af;$ba rl;lg;gphpT vJ? 
a. gjpdhd;fhtJ rl;lg;gphpT  b. gjpide;jhtJ rl;lg;gphpT  
c. gjpdhwhtJ rl;lg;gphpT   d. gjpNdohtJ rl;lg;gphpT 
e. tpil njhpatpy;iy. 

 
79. Which Tamil scholar did combined study of tree worship and snake worship? 

a. G.Subramaniyan    b. T.P.Meenakshi Sundaram 
c. V.Kanakasabhai    d. V.I. Subramaniam 
e. Answer not  known 
ve;j jkpowpQh; kutopghl;bidAk; ghk;G topghl;bidAk; xg;gha;T nra;jhh;? 
a. [p.Rg;gpukzpad;    b. nj.ngh. kPdhl;rp Re;juk; 
c. tp.fdfrig    d. tp. ma;. Rg;gpukzpad; 
e. tpil njhpatpy;iy. 
 

80. In which of the following state Jajmani system was not in practice?  
a. Andhra   b. Karnataka   c. Kerala   
c. Tamil Nadu  e. Answer not known 
fPNo jug;gl;Ls;s ve;j khepyj;jpy; [[;khdpKiw tof;fj;jpy; ,Uf;ftpy;iy? 
a. Me;jpuh   b. fh;ehlfh   c. Nfush 
d. jkpo;ehL   e. tpil njhpatpy;iy 
 

81. How the village artisans were called in medieval South India? 
a. Ayagars   b. Inamdars   c. Mirasidars 
d. Zamindars   e. Answer not known 
,ilf;fhyj; njd;dpe;jpahtpy; fpuhkj;jpd; iftpidQh;fs; vt;thW miof;fg;gl;ldh;? 
a. Mafhuh;   b. ,dhk;jhh;   c. kpuhrpjhh; 
d. rkPd;jhh;   e. tpil njhpatpy;iy 
 

82. Which one of the statement is correct regarding Mihrunnisha? 
1. Mihrunnisha father name was Miza Liyaz Beg, a Afghan 
2. She was born in 1577 
3. She married to Ali Quli beg Isgulla 
4. He was conferred the title of Nurjahan and then Normahal 
a. 1,2,3 are correct 4 only incorrect  b. 2,3 are correct 1,4 are incorrect 
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c. 1,2,4 are correct 3 only incorrect  d. 1,2,3,4 are correct 
e. Answer not known 
,tUf;F E}h;[fhd; vd;w gl;lk; KjypYk; gpd;G E}h; kfhy; vd;w gl;lKk; 
nfhLf;fg;gl;lJ.  
a. 1,2,3 rhpahdJ 4 kl;Lk; jtwhdJ  b. 2,3 rhpahdJ 1,4 jtwhdJ 
c. 1,2,4 rhpahdJ 3 kl;Lk; jtwhdJ d. 1,2,3,4 rhpahdJ  
e. tpil njhpatpy;iy 
 

83. Which of the following generals, who was killed by the Maratha ruler Shivaji? 
a. Afzal khan  b. Shaista khan  c. Mir Jumla 

 d. Jai Singh   e. Answer not known 
 fPo;fhZfpd;w jsgjpfspy; kuhj;jpa murh; rpth[pahy; nfhy;yg;gl;lth; ahh;? 
 a. mg;]y; fhd;  b. nrap~;lh fhd;  c. kph;[{k;yh 
 d. n[a; rpq;   e. tpil njhpatpy;iy 
 
84. In which year, Fa – hien visited the court of Gupta Emperor, Chandiragupta II? 

a. 401- 410 A.D.  b. 401- 420 A.D.  c. 401- 425 A.D. 
d. 400- 405 A.D.  e. Answer not known 
Fg;jh; Nguurh; ,uz;lhk; re;jpu Fg;jdpd; mitf;F tUif je;j rPd ehl;L gazp  
gh`pahd; ve;j tUlj;jpy; tUif Ghpe;jhh;? 
a. 401- 410 fp.gp.  b. 401- 420 fp.gp.  c. 401- 425 fp.gp. 
d. 400- 405 fp.gp.  e. tpil njhpatpy;iy 
 

85. Which one of the statement is correct regarding Architecture of Indus Valley? 
1. In Mohenjodaro nine structure of building have been reveals 
2. Minor variation found in the ground plan in Mohenjo-Daro 
3. Script of the Indus Valley totally unchanged throughout their history 
4. In Mohenjadaro and Harappa stone building are found 
a. 1,2,3,4 are correct    b. 1,2 are correct 3,4 are incorrect 
c. 1,3,4 are correct 2 only incorrect  d. 4 only in correct 

e. Answer not known 
rpe;J rkntsp fl;blf; fiy Fwpj;J rhpahd $w;W vJ? 
1. nkhfQ;rjhNuhtpy; fl;blj;jpd; fl;likg;gpy; VO epiyfs; fhzg;gLfpd;wJ. 
2. nkhfQ;rjhNuh fl;b mbj;jsk; rpwpa khWjy;fs; fhzg;gLfpd;wJ. 
3. rpe;J rkntsp Kj;jpiufs; mjd; fhyj;jpy; khw;wk; ngwtpy;iy 
4. rpe;J rkntsp ehfhpfj;jhy; `ug;gh kw;Wk; nkhfQ;rjhNuhthy; fy; fl;blq;fs; 
fhzf;fpilf;fpd;wd. 
a. 1,2,3,4 rhpahdJ    b. 1,2  kl;Lk; rhpahdJ 3,4 jtwhdJ 
c. 1,3,4 rhpahdJ 2 kl;Lk; jtwhdJ d. 4 kl;Lk; jtwhdJ 
e. tpil njhpatpy;iy 
 

86. When was right to information act passed in India? 
a. 2000  b. 2002 c. 2001  d. 2005  e. Answer not known 
jfty; mwpAk; chpikr;rl;lk; ,e;jpahtpy; ve;j Mz;L ,aw;wg;gl;lJ? 
a. 2000  b. 2002 c. 2001  d. 2005  e. tpil njhpatpy;iy 
 

87. MISA was enacted in 
a. 1961 b. 1971 c. 1972  d. 1973 e. Answer not known 
kprh rl;lk; ,aw;wg;gl;l Mz;L 
a. 1961 b. 1971 c. 1972  d. 1973 e. tpil njhpatpy;iy 
 

88. The retirement age of Supreme Court Judge is  
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a. 60 years   b. 62 years   c. 65 years 

d. 67 years   e. Answer not known 
cr;rePjpkd;w ePjpgjpapd; Xa;TngWk; taJ 
a. 60 tUlq;fs;  b. 62 tUlq;fs;  c. 65 tUlq;fs; 
d. 67 tUlq;fs;   e. tpil njhpatpy;iy 
 

89. Who stated that “ India is not a federation at all”? 
a. K.P. Mukherji  b. Jawaharlal Nehru  c. Ambedkar 

d. Gokhale   e. Answer not known 

“,e;jpah KOikahd $l;lhl;rp mikg;Ng my;y” vdf; $wpath; ahh;? 
a. Nf.gp. Kfh;[p  b. [t`h;yhy; NeU  c. mk;Ngj;fhh; 
d. NfhfNy   e. tpil njhpatpy;iy 
 

90. Every emergency proclamation made by the president must be laid before the. 
a. Prime Minister  b. Council of Ministers  c. Cabinet  
d. Parliament  e. Answer not known 
FbauR jiyth; mtru fhy gpufldk; nra;Ak; Kd;G mjid ____________ Kd;ghf 
itf;f Ntz;Lk;. 
a. gpujk ke;jphp  b. mikr;ruit   c. Nfgpdl; 
d. ghuhSkd;wk;  e. tpil njhpatpy;iy 
 

91. Who is the Chairman of Rajya Sabha? 
a. The President  b. The Vice – President c.  The Prime Minister 
d. None of the above e. Answer not known 
,uh[;a rigapd; ( Nkyitapd;) jiyth; ahh;? 
a. FbauRj; jiyth;  b. Jizf; FbauRj; jiyth; 
c. gpujkh;   d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
  

92. Which fundamental right was deleted by the 44th constitutional amendment? 
a. Right to equality  b. Right to freedom  c. Right to property 
d. Right to religion  e. Answer not known 
44 k; murpayikg;G rl;lj;jpUj;jj;jpd; %yk; ePf;fg;gl;l mbg;gil chpik vJ? 
a. rkj;Jt chpik  b. Rje;jpu chpik  c. nrhj;Jhpik 
d. kj chpik  e. tpil njhpatpy;iy 
 

93. Who said ‘Secularism and Democracy are the two pillars of our state”? 
a. Jawaharlal Nehru  b. Mrs. Indira Gandhi  c. Mahatma Gandhi 
d. B.R. Ambedkar  e. Answer not known 
‘kjrhh;gpd;ik kw;Wk; kf;fs; Ml;rp Mfpait murpd; ,UJ}z;fs;’ vd;W $wpath; ahh;? 
a. [t`h;yhy; NeU   b. ,e;jpuh fhe;jp  c. kfhj;kh fhe;jp 
d. B.R. mk;Ngj;fhh;   e. tpil njhpatpy;iy 
 
 

94. In the Indian context, the studies of poverty where made by 
I. Dandekar and Rath    II. P.K. Bardhan 
III. B.S. Minhas     IV. I.J. Ahluwalia 
Select the correct answer from the codes given below; 
a. I and II   b. II and III   c. I,II and III 
d. I, II, III and IV  e. Answer not known 
,e;jpa #oypy; tWik gw;wpa ,ay;Gfs; ahuhy; cUthf;fg;gl;lJ 
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I.  jhz;Nlf;fh; kw;Wk; uhj;    II. P.K. gh;jd; 
III. B.S. kpd;fh];     IV. I.J. mfy;thy;ah 
fPNo Fwpf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd gjpiyf; Fwpg;gplTk;. 
a. I kw;Wk; II   b. II kw;Wk;  III  c. I,II kw;Wk; III 
d. I, II, III kw;Wk; IV  e. tpil njhpatpy;iy 
 

95. Pradhan Mantri Gram Sadak Yojana was introduced in the year 
a. 1998 b. 2000 c. 2003  d. 2005  e. Answer not known 
gpujhd; ke;jphp fpuhk rlf; Nah[dh mwpKfg;gLj;jg;gl;l tUlk; 
a. 1998 b. 2000 c. 2003  d. 2005  e. tpil njhpatpy;iy 
 

96. Swarna Jayanthi Shahari Rozgar Yojana (SJSRY) belongs to  
1. Urban areas  2. Rural areas  3. Semi urban areas 
a. 1 only   b. 1 and 2 only  c. 2 and 3 only 
d. 1,2 and 3   e. Answer not known 
];th;z n[ae;jp rfhhp Nuh[;fh; Nah[dh ,NjhL njhlh;GilaJ 
1. efh;Gwk;   2. fpuhkg;Gwk;   3. ghjp efh;Gwk; 
a. 1 kl;Lk;   b. 1 kw;Wk;  2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 1,2 kw;Wk; 3   e. tpil njhpatpy;iy 
 

97. Match the List I and List II and select the correct answer using the codes given below: 
List I    List II 

  Commission   Article of the constitution of India 
 A. UPSC    1. Article – 39 
 B . Planning commission  2. Article – 315 
 C. Finance commission  3. Article – 280 
 D. Election commission  4. Article – 324 
  A B C D 
 a. 2 1 3 4 
 b. 1 2 4 3 
 c. 3 4 1 2 
 d.  2 3 4 1 
 e.  Answer not known 

gl;bay; I kw;Wk; gl;bay; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tpiliaj; 
Njh;T nra;f. 
 gl;bay; I   gl;bay; II 
 FO    ,e;jpa murpayikg;gpd; ~uj;J 
A. A.gp.v];.]p   ~uj;J – 39 
B. jpl;lf;FO    ~uj;J – 315 

C. epjpf;FO    ~uj;J – 280 
D. Njh;jy; Mizak;  ~uj;J - 324 

  A B C D 
 a. 2 1 3 4 
 b. 1 2 4 3 
 c. 3 4 1 2 
 d.  2 3 4 1 
 e.  tpil njhpatpy;iy 
 
98. Which of the following are the instruments of fiscal policy? 

1. Bank rate   2. Pubic Expenditure 
3. Taxation   4. Public debt 
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a. 1,2 and 3 only   b. 2,3 and 4 only  c. 1,3 and 4 only 
d. 1,2,3 and 4   e. Answer not known 
fPo;fz;ltw;Ws; epjpf; nfhs;ifapd; fUtpfs; ahit? 
1. tq;fp tPjk;  2. nghJr; nryT 
3. thptpjpg;G   4. nghJf;fld; 
a. 1,2 kw;Wk; 3 kl;Lk;  b. 2,3 kw;Wk; 4 kl;Lk;  c. 1,3 kw;Wk; 4 kl;Lk;  
d. 1,2,3 kw;Wk;  4  e. tpil njhpatpy;iy 
  

99. When was the “National Institute for Transforming India Aayok” set up in India? 
a. 01.01.2019   b. 01.01.2018   c. 01.01.2017 
d. 01.01.2015   e. Answer not known 
“,e;jpa fl;likg;ig khw;Wtjw;fhd Njrpa epWtd FO” ,e;jpahtpy; vg;NghJ 
mikf;fg;gl;lJ? 
a. 01.01.2019   b. 01.01.2018   c. 01.01.2017 
d. 01.01.2015   e. tpil njhpatpy;iy 
 

100. Match List I with List II and select the correct answer using the codes given below the 
 lists: 

  List I   List II 
  Five year Plan  Character 
 A.  Ninth plan  1. To achieve the target of 8% GDP growth 
 B.  Tenth plan  2. To achieve faster, sustainable and more Inclusive growth. 
 C.  Eleventh plan  3. Towards faster and more inclusive growth 
 D. Twelth plan  4. Growth with social justice and equality 
  A B C D 
 a. 3 2 1 4 
 b. 4 3 2 1 
 c. 4 1 3 2 
 d. 1 2 3 4 
 e.  Answer not known  

gl;bay; I kw;Wk; gl;bay; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tpiliaj; 
Njh;T nra;f. 
 gl;bay; I    gl;bay; II 
 Ie;jhz;Lj; jpl;lk;   ,ay;G 
A. 9 tJ jpl;lk;  1. 8% GDP tsh;r;rp ,yf;if miljy; 
B. 10 tJ jpl;lk; 2. tpiuthd> ePbj;j kw;Wk; cah;e;j cs;shh;e;j 

tsh;r;rpia miljy; 
C. 11 tJ jpl;lk;   3. tpiuthd kw;Wk; cah;e;j cs;shh;e;j tsh;r;rpia miljy; 
D. 12 tJ jpl;lk;  4. r%f ePjp kw;Wk; rkj;Jtj;Jld; $ba tsh;r;rpia miljy; 

A B C D 
 a. 3 2 1 4 
 b. 4 3 2 1 
 c. 4 1 3 2 
 d. 1 2 3 4 
 e.  tpil njhpatpy;iy 

  
  

 


